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Question Number : 1 Question Id : 41652013416 Question Type : MCQ Option Shuffling

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

The number density of molecules of a gas
depends on their distance r from the origin
as, n(r)=n,e o Then the total number
of molecules is proportional to :
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Question Number : 2 Question Id : 41652913417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

A particle is moving with speed v=b [y

along, positive x-axis. Calculate the speed

of the particle at time t =7 (assume that the

particle is at origin at t=0).

Options :

41652052446, 4

41652852447
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Question Number : 3 Question Id : 41652013418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1
Two particles are projected from the same
point with the same speed u such that they
have the same range R, but different
maximum heights, h1 and hr Which of the
following is correct ?
Options :

R2=16 h,h
41652952450, 172

R2=4 hh,
41652352451, =

.
41652952452, R*=2hh,

416529524553, -
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R2=16 h,h
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Question Number : 4 Question Id : 41652913419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

A block of mass 5 kg is (i) pushed in case
(A) and (ii) pulled in case (B), by a force
F=20 N, making an angle of 30° with the
horizontal, as shown in the figures. The
coefficient of friction between the block and
floor is w=10.2. The difference between the
accelerations of the block, in case (B) and
case (A) will be: (g=10 ms~2)

F=20N
e

_____ P N i

(Aa) (B)
Options @
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Question Number : 5 Question Id : 41652013420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A spring whose unstretched length is [ has

a force constant k. The spring is cut into
two pieces of unstretched lengths [, and [,
where, I, =nl,and nis an integer. The ratio
k! / 1<.2 of the corresponding force constants,
k; and k, will be :

Options @

n
41652952458,

1
41652952459 0

>

41852952460,
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Question Number : § Question Id : 41652913421 Question Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A smooth wire of length 2wr is bent into a
circle and kept in a vertical plane. A bead
can slide smoothly on the wire. When the
circle is rotating with angular speed w about
the vertical diameter AB, as shown in
figure, the bead is at rest with respect to
the circular ring at position P as shown.
Then the value of w” is equal to :

(yw
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Correct Marks : 4 Wrong Marks : 1
Three particles of masses 50 g, 100 g and
150 g are placed at the vertices of an
equilateral triangle of side 1 m (as shown
in the figure). The (x, y) coordinates of the
centre of mass will be :

Y
m3=150 g
VA
4 E N\
sogemi|far | \m=100g
0 05m 1.0m
Options :
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Question Number : § Question Id : 41652913423 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
The ratio of the weights of a body on the
Earth's surface to that on the surface of a

planet is9 :4. The mass of the planet is %ﬂ‘l

of thatof the Earth. If'R" is the radius of the
Earth, what is the radius of the planet ?
(Take the planets to have the same mass
density)

Options :

L

41652952470, .
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A uniform cylindrical rod of length L and
radius r, is made from a material whose
Young's modulus of Elasticity equals Y.
When this rod is heated by temperature T
and simultaneously subjected to a net
longitudinal compressional force F, its
length remains unchanged. The coefficient
of volume expansion, of the material of the

rod, is (nearly) equal to:
Oprions @
41652952474, oF /(a1

41652952475, 9F / (wr?YT)
41652052476, 1/ (mYT)
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Correct Marks: 4 Wrong Marks: 1



A solid sphere, of radius R acquires a
terminal velocity 7y, when falling (due to
gravity) through a viscous fluid having a
coefficient of viscosity . The sphere is
broken into 27 identical solid spheres. If
each of these spheres acquires a terminal
velocity, v5, when falling through the same
fluid, the ratio (v,/v,) equals :

Options :

41652952478. 9

41652952479 1/9

41652952480, 4

41652952481, V27
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A Camot engine has an efficiency of 1/6.
When the temperature of the sink is
reduced by 62°C, its efficiency is doubled.
The temperatures of the source and the sink
are, respectively,
Options :

et
41650952450, 0 C I7C

416523524383, 124°C, 62°C

416529524584 37°C, 99°C

41655950455 62°C, 124°C
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Correct Marks: 4 Wrong Marks: 1
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Options :

41652950452 0 & 3TC

41652352483, 124°C, 62°C
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Question Number : 12 Question Id : 41652913427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A diatomic gas with rigid molecules does
10 | of work when expanded at constant
pressure. What would be the heat energy
absorbed by the gas, in this process ?
Options :

.
41652952486, 5]
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Question Number : 13 Question Id : 41651913428 Queston Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A small speaker delivers 2 W of audio

output. At whatdistance from the speaker
will one detect 120 dB intensity sound ?
|Given reference intensity of sound as
102 W/m?

Options :

41652952490, 10 em

41652952491 20 oM

41650952492 U €m

41650950493, U em
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Options :

41652952490, UM

41652952491 20 €M

41652952492, U cm

41850952493, W em

Question Number : 14 Queston Id : 41652913429 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Two sources of sound 5, and S, produce
sound waves of same frequency 660 Hz. A
listener is moving from source S; towards
S, witha constant speed u m/s and he hears
10 beats/s. The velocity of sound is
330 m/s. Then, u equals:

Opdons :

41650952404, ~° M/s

41652952495, >0 M/s

41652952496, 10-0m/s

41650050497 20 m/s
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41650852404 =0 M/S

41850052495, 20 M/S

41652052496 100 m/s

41650050497 120 M/S

Question Number : 15 Queston Id : 41652913430 Question Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 4 Wrong Marks : 1

Let a total charge 2 Q be distributed in a
sphere of radius R, with the charge density
given by p(r)=kr, where r is the distance
from the centre. Two charges A and B, of
~Q each, are placed on diametrically
opposite points, at equal distance, a, from
the centre. If A and B do not experience
any force, then :

Options :

_g-1/4
41652952498 =90 R

. =7 1!4
41652952499 2~ © R

41652952500, @~ R/3

41652352501
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In the given circuit, the charge on 4 pF
capacitor will be :

1k
4 wF
—H—E:u:ﬂ—
S

3 p

)
10V
Opdons :

41852952502 0 wC

;s
41652952503, 2+ BC

41650952504 -2 HC

41652952505 104 pC
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41652959502 6 uC

4
41850050503 2+ KC

41650050504 24 HC

41652952505, 134 pC
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Correct Marks : 4 Wrong Marks : 1
One kg of water, at 20°C, is heated in an
electric kettle whose heating element has a
mean (temperature averaged) resistance of
20 £2. The rms voltage in the mains is
200 V. Ignoring heat loss from the kettle,
time taken for water to evaporate fully, is
close to :
[Specific heat of water=4200 J/(kg °C),
Latent heat of water=2260 k] /kg]

Options :

41652952506: 9/ ninates

41650950sg7 LU minutes

41852952508, = s

416523952508, ¥ g

Question Number : 17 Question Id : 41632913432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

w1 wiad (ArTEE SEd) 20 Q Fi U
e §20°C % 1 kg T %1 3910w | faegm
#AYFd 1 rms JreEd 200 V &1 Faet 9 9
A H Y 99T w0

[or ®1 fafee F=1=4200 J/ (kg °C),
T T T T = 2260 k] /kg]

Opdons :
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Correct Marks : 4 Wrong Marks: 1
An electron, moving along the x-axis with
an initial energy of 100 eV, enters a region

of magnetic field E =(1.5x10"3T) kats
(See figure). The field extends between
r=0and x=2cm. The electron is detected
at the point Q on a screen placed 8 cmmaway
from the point S. The distance d between
P and Q (on the screen) is :

(electron’s charge =1.6 x 10~ 1C, mass of
electron=9.1x10 3! kg)

¥ iha

Options :

¥
41650952510, 22 M

>
41650950511 1287 em

4165295251 1169 em

41650952513 == M
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100 ¢V 5311 %1 U Ferai 90 1- 38 F S

ﬂﬁqﬁi.ﬁ={1.5x1u-3ﬂf:%qaaﬁu%i
T fagS W waw wa ¢ (Fo= 3fad) | 9==a
FAx=0H x=2cm 7% faaga 71 fagsd
8 cm T8 T foorm e 1 seret = HEE A
QW Fm &1 fag PAm Q& == %1 g1 d
(92 %) 1 HE 2

(SR o AEN=1.6 x 10~ 19C, 5eE2A #
B =9.1x10 3! kg)

Opdons :

41650950510, 122 M

41650952511 1287 €m

41652052512 1165 cm

Ly B0
41650950513 =20 Cm

Question Number : 19 Queston Id : 41652913434 Question Tyvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1



Find the magnetic field at point P due to a
straight line segment AB of length 6 cm
carrying a current of 5 A, (See figure)
(h,=47x10 "7 N-A"?)

.-'l’ o

.'rr Py
7
‘l' =
A

i
*

_________________T.
.

6 cm
Oprions :

-5
41652952514 10X107°T

3 -0
41652952515, ~0*x107°T

) -5
41652052516 20 X107°T

-5
41652952517, O0X107°T
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Options :

-5
41652052514 1OX107°T

4 -5
41652952515, >0Xx107°T

9 =5
41652952516, =2 X107 T

5|
41650052517, »0X107°T
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Consider the LR circuit shown in the figure.
If the switch S is closed at t=0 then the
amount of charge that passes through the

L
battery between t=0 and t=ﬁ 18 :

L R
WHE I ——MA—

% -
—ea§»—
E S
Opdons :
73 EL

RE
41652952518

27EL
R2
41652952519
EL
2 7R2
41652952520,
EL
2
41652952521 . 7.3R
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Options :
73 EL

2.7EL
RE
41652952519
EL
27R=
41652952520, =
" EL
7aR2
41652952521, ©
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Correct Marks: 4 Wrong Marks: 1

A plane electromagnetic wave having a
frequency v=23.9 GHz propagaltes along
the positive z-direction in free space. The
peak value of the Electric Field is 60 V/m.
Which among the following is the
acceplable magnelic field component in the
electromagnetic wave ?

Options :
= M
= i < 10° + 111
4165295252 B = 60sin(05x 10%x + 1.5 % 107 1)k
B = —J ot 1‘ == 1 J:L
41650050503 B = 2107 sin(0.5%10°2 — 1.5 x 1019
== | : :"-J ; ll I
a1650052504 B = PA0Sin(05x10%z + 151070



B = 2x107 sin(1.5%10%x + 05 x 101y
41652952525
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T A H v =23.9 GHz 1 U T fagm
TFEE T IAE oA w faen § g
@ 2z faga g3 = afusan 9@
60 V/m T = 5 &t % @ famew 58 wn
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Options :

41650052522 B = 60SIn03x 10% + 15 x 107y

41652952523 B = 2x10 7sin(05%10% — 1.5 x 10"y
41652952524 B = 2107sin(05%10% + 15 t[!"t]:

41652952525, B = 2107 sin(1.5x10%x + 05 x tu"ﬂ'}

Question Number : 22 Question Id : 416521913437 Qu&sﬁm Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wronez Marks: 1

A transparent cube of side d, made of a
material of refractive index p,, is immersed
in a liquid of refractive index ., (b, <p,). A
ray is incident on the face AB at an angle
B(shown in the figure). Total internal
reflection takes place at point E on the face
BC.

A D

Then 6 must satisfy :

Options :



41652952526

41652352527

41652952528,

f<sin  —
41652952529

Question Number : 22 Question Id : 41652913437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
FAGHTI o, F T B H ATIE ol oy <pho)
% YEv TZE I ZAT I E | W # U

0 59 7w & YW AB W g4 |, FHarEr,
0 & T ANfA AN E | TR BCHF AGE W

U AFEE WEE 24 F 9, 0 1 OE F15
T HE=H G w2
B__E C
ﬂf’/f IL\\
______ o
v u\&
y Mo \
Hq
A D
Options :
2
0 <sin”! EE— 1
41652952506, e
2
f >sin "} E% 1
i
41650955557, 4
0 >sin ' EL
WA

41652352528



41652952523

Question Number : 23 Question Id : 41651913438 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A system of three polarizers P, P,, P, is set
up such that the pass axis of P;is crossed
with respect to that of P;. The pass axis of
P, is inclined at 60° to the pass axis of P,
When a beam of unpolarized light of
intensity 1 is incident on P, the intensity
of light transmitted by the three polarizers
is I. The ratio (I,/I) equals (nearly) :

Opdons :

41652952550 180

41852952531 5.33

41652952552, 10.67

41652952533, 16.00

Question Number : 23 Quesdon Id : 41652913438 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Optien Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

a1 gl Py, P, 791 P, %1 59 W& & ¢ fF
P, %1 IH-34 P, #1 9H S A Fwa £l P,
T -39 P, F1 IE-9 F 60° F W
o4 UF 1, w1 A wwe w99 P,
T STfad B & W 59 1 I & SEEeE
H [ drwa = v o g fria @ #
A (1,/1) F Treheas w9 2

Opdons :

416523852530. 1.80

41652952537 >0

416852952532 10.67



41652959533, 100

Question Number : 24 Question Id : 41651913432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Consider an electron in a hydrogen atom,
revolving in its second excited state (having
radius 4.65 A). The de-Broglie wavelength
of this electron is :

Opdons :

41650950534 35 A

41650952535, 66 A

41652952536, -/ A

e
41652952537, 129 A

Question Number : 24 Quesdon Id : 41652913439 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number: Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

U S SIS W] H SeTaeiA ZE Swiiad el

g @2l (39 T # 465 A 7))

IR o e R | B s L

Options :

35A

41652952534,

6.6 A

41852952535,

41652952536, 9.7 A

sigsoessesy. 129A

Question Number : 25 Quesdon Id : 41652913440 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1



The electron in a hydrogenatom first jumps
from the third excited state to the second
excited state and subsequently to the first
excited state. The ratio of the respective
wavelengths, A / Ay, of the photons emitted
in this process is :

Options :

41652952538, e

7/5

41652952539

41652952540. i

41652952541 20/7

Question Number : 25 Question Id : 41651913440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

T BISEIS TOH] H Seiag Tael dredl Sadter
FFEN § A Iaifad sEE | SR aevEng
T § W It FEE H S E | A
TFHTU § Ieafed FeH & T Tl
I N, /N, B

Oprions @

41652952538.27!5

4165285253539, 773

41852952540, W7

41652952541, 27

Question Number : 26 Question Id : 41652913441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Half lives of two radioactive nuclei A and
B are 10 minutes and 20 minutes,
respectively. If, initially a sample has equal
number of nuclei, then after 60 minutes, the
ratio of decayed numbers of nuclei A and
B will be:



Options :

41652952542, 18

41652952543, ° 8

41652952544,

41652952545,

Question Number : 26 Question Id : 41652913441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

2 A A, A 991 B, # AH9E, FA9;,
10 minutes 79 20 minutes ¥1 3% 7% T3
T s H SF A W e auE
60 minutes T¥EE A 91 B F wifga Tifqei
I HEA T A 2

Options @

41652952542 18

Q-
41652952545, 7:8

41652950544 1

3 -
41852952545, 7

Question Number : 27 Question Id : 41651913442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1



Figure shows a DC voltage regulator
circuit, with a Zener diode of breakdown
voltage=6V. If the unregulated input
voltage varies between 10 V to 16 V, then
what is the maximum Zener current ?

= Ry =4k

L\

Oprions :

41652952546, /° MA

41650950547, 12 MA

41650050545 — WA

41652950549 -0 MA

Question Number : 27 Question Id : 41651913442 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



o= 5 w99 dieea =6V & 91 =9E | 9
faea fa® ity fammn 21 afe sfEtE
frafom fava 10V 991 16 V F &9 F2aa 2
A1 91 =1 § wAfasag 9w =1 94 207

Opdons :

41652952546, /-2 MA

41650050547 10 MA

41650952548, 20 MA

41652855549 00 MA

Question Number : 28 Question Id : 41652913443 Question Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In an amplitude modulator circuit, the

carrier wave is given by,

C(t)=4 sin (20000 rt) while modulating
signal is givenby, m(t) =2 sin (2000 wt). The
values of modulation index and lower side
band frequency are:

Oprons :

41652952550, O-2and 9 kHz

41652952551, -4and 10 kHz

41652952552, 09 and 10 kHz



41650052553, -3 and 9 kHz

Question Number : 28 Question Id : 41651913443 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

T A Hzgem iy § fEe s @
C(t) =4 sin (20000 wt) T, T Aiger =
m(t) =2 sin (2000 «rt) F | FIZEH gAFH a4
foreret wvd d= safy % W

Options :

41652952550, 0 A9 kHz

41650052551, 04 T 10kHz2

41650050550 05 T 10kHz

41652052553, 00 T 9KHz

Question Number : 29 Question Id : 41652913444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

A tuning fork of frequency 480 Hz is used
in an experiment for measuring speed of
sound (v) in air by resonance tube method.
Resonance is observed to occur at two
successive lengths of the air column,
Il =30 cm and .i'z='?i] cm. Then, v is equal
to:

Oprions :

41652952554, 338 ms

- i
41652952555, 3/ 2 MS

1
41652952556, 04 MS

-1
41652952557, 2 MS

Question Number : 29 Queston Id : 41652913444 Quesdon Tvpe : MCQ) Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1



e Fen fafu g ag § = w5 == (o)
10 F3 % fod U 94 H 480 Hz &N+
AT %1 STAT FT € | AT T ] A S
a1, =30 cm 91 1,=70 cm & ferd
R WA A S| T FIHAY

Options :

i !
41652952554, o8 ms

-1
416529505ss. /9 ms

1
41652952555, ~D4 MS

-1
41652952557 332ms

Question Number : 30 Question Id : 41652913445 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A moving coil galvanometer, having a

resistance G, produces full scale deflection
when a current 15 flows through it. This
galvanometer can be converted into
(i) an ammeter of range 0 to I, (I, > Ig} by
connecting a shunt resistance R 4 to it and
(ii) into a voltmeter of range Oto V (V =Gl)
by connecting a series resistance Ry to it

Then,
Oprions :
R L. ¥
R Ry=G?an ﬁ"[l.fl J
41652952558, Ve
. Ra_
RsRy=G“and g, (19-1, )
41652952559,

41652952560,



In-1
2|70 g
RARy =G I }and
B
Ry | I
RV lll'l_iﬂl

41652952561, '

Question Number : 30 Question Id : 41652913445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

aferlis G % UF =@ FEel yREd F 9wl
T YU AT T S e | 5 SR 9
0|1, (I,> 1) 4R % et § w vz wfedy
R, T 9fEfaa #2 TG & | TH e
FWE 0 BV (V=Gl,) ¥ Awedie § UF
il Wi R,, #FME WREfaa wE HEd €

[ |
Opdons :
2
R 5 Iy
Y ) —_—
41652952558, 4
Ry _ Ty
v ) =
Vv il g
41652952559
IF.
RARy =G~
Iﬂ_iH ]
Ei_{“VJHT
R |
41652952560, ' 8
Iy—1
R ARy —GZ[ ]I P’]
4
¥
Ra _| s
R\- {l"_:F
41652952561,
Chermustry
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Question Number : 31 Queston Id : 41652913446 Question Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In the following skew conformation of

ethane, H' —~C—C— H" dihedral angle is :

P e '
2 \ 11 -29°

I\~ H

H
Options :
f=21s
41652952562, =
=5 L
41652352563, ol

41652952564, 149

416852952565,

Question Number : 31 Question Id : 41652913446 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
ugq % 9= faunasia g&ym A,
H-C-C-H" fgrasm #




Options :

S00
41652352562, %

=10
41652952563, 121

41652952564 149

41652952565 120°

Question Number : 32 Question Id : 41652913447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

The IUPAC name for the following
compound is :

CHg

|
H3O Sz

”’ "CHj
CH»>
Options :
3,5-dimethyl-4-propylhept-6-en-1-
41652952566 Y€

3-methyl-4-(3-methylprop-1-enyl)-1-

41652952567 heptyne

3,5-dimethyl-4-propylhept-1-en-6-
e

3

41652952568.

3-methyl-4-(1-methylprop-2-ynyl)-1-

heptene
41652352568

Question Number : 32 Quesdon Id : 41652913447 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1



et At & fem [IUPAC M 7

ClHy

HBC"M,_ o '_,/Lx._ ,ﬁﬁ CH

CHy

Opdons :
3,5 -ETEAfY@E-4-WifrER=-6-39-1-

41652852566, TS
3-Tfge—4-(3-Afgerg-1-sfen -1-
41652952567 T2
3,5-ETEHiaa-4 -WfTee=-1-59-6-
41652952565, LY

3-Afger-4-(1-Afuerir-2- smafe ) -

41650052569, 1 G

Question Number : 33 Question Id : 416529123448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

Consider the lollowing reactions :

AgZD
ppt
Al A
Hg?+/H* NaBH, _ ZnCl, [lurbidity
- «( —+ within
canc. HC-I Eminutes
‘A" 1s:
Options @
41650952570, SHi=CH
41650952571, Sa~C=CH
41652952572

CH,=CH,
41652952573, - =



Question Number : 33 Queston Id : 41652913448 Queston Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

frer sifufransti w fasm =it

Ag,0 :
————=ppt (a9
Al A

Hg? ' /H'  NaBH, . ZnCl, 5 fire #
E g HC

‘AR
Opdons :

41652950570 —HI=U

4165095057 Ha—C=ClH

G’I:!_—CEC—G'I';
41852952572 z '

CH,.=CH,
41652952573, = =

Question Number : 34 Question Id : 41652913449 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Which of the given statements is
INCORRECT about glycogen ?

Options :

41652952574, [tis present in animal cells.

It is a straight chain polvmer similar
41652952575, 10 amylose.

41655955576, [tis present in some yeast and fungi.

Only a-linkages are present in the

41652950577 Molecule.

Question Number : 34 Question Id : 41652913449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Markz : 4 Wrons Marks: 1
TEIHEE & Ty § fed T e 8 3
FH | Al T 87

Options :



41652952574, 7% oit-ifaersn H Iuftem 2
TfETs F1 TE T8 UF F AE qgerh
41652952575, z

T 3 AN (GHR) T FAH A I
41650952576, €|

41650asosy, AUHl H A o S F 1

Question Number : 35 Question Id : 41652913450 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1
The correct name of the following polymer
is
CHa
w o CHs

N

,

Py

Options :
41655959578 Polyisobutane

41652952579, Folyisobutylene

1652950550, | oytert-butylene

Polyisoprene
41652952581 s

Question Number : 35 Question Id : 41651913420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

C

Hy
\ #CH
Aa

\ A

Options :

41652952578 At A A
41652952579, AT HTgETSe



41652952580 T° 22 - ZpRTee

A AT

416852952581

Question Number : 36 Question Id : 41652913451 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Benzene diazonium chloride on reaction
with aniline in the presence of dilute
hvdrochloric acid gives :

/ xl._}_ N=N _ﬁf; \\ - NHE

Opdons :

L

P
i

\ e

41652952582 =

| >

VAR
¢ *‘_‘;—N:N—NH—{{X
41652952583 —— \N—/

r— e

Vs /i x\\
{’ —N=N -«< Ny
Y ; N
f 4
41652952584, HoN
¢ — -NH
41652952585, —— N

Question Number : 36 Question Id : 41652913451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 4 Wrong Marks: 1

T TIEEEEE o w1 Iuredta § FsiA
EESIAE FEREE, U % @y Afafsa

FTF ﬁ'ﬂ'l % -
Options :
7/ \ n— _Q:S: L —
44 W] = y
'-._\- _I.__-' _\_' ’r,f 2
41652952582 At At
/o N\ gy B
¢ —N=N-NH- ;

N——/ N—
418523852585, — E—



4152952584 HEN
. o—
y/d R iy W\

4 K —NH3
41652952585 —— .

Question Number : 37 Question Id : 41651913452 Queston Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Heating of 2-chloro-1-phenylbutane with
EtOK/EtOH gives X as the major product.
Reaction of X with Hg(OAc),/H,0
followed by NaBH, gives Y as the major
product. Y is:

Oprions @

41652952556,

Ph /\r\
OH
OH
41652952587 Ph)\/\
OHl
41652952588, TN f\/l\
P

Ph—" ™~
416852952589

—
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2-FAR- 1 -3 F1 EtOK/ EOH F 914
THFA WX T TNEF 1 H a2 2|
Hg(OAc),/H,0 & Hig X #1 sAf9fw=
de9vard NaBH, & @9 sifufem 4 wra
YHqHAITEE! Y

Options :



P

41652952586,

41652952587

41652050588 PR~

h_,x’“mawfz’“xhh
OH
OH
Ph )\/‘\
Mﬁhgfffxaa

Ph—

41652952583

Question Number : 38 Quesdon Id : 41652913453 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
What will be the major product when
m-cresol is reacted with propargyl bromide
(HC=C- CH;Br) in presence of K;CO, in

acetone ?
Options :
.r'KDRH'

41652952590 CH3

OH
41652952581,

OH
e ““a&
“ﬁfg.

CHj
41652952592



OH

CHj
41652952593,

Question Number : 38 Question Id : 41651913453 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 4 Wrong Marks: 1
T I 1 0N S m - e 1 uEeE §
K,CO, #1 Iq1e4fd § WiYlsel F1H5S
(HC =C~CH,Br) & w9 sfaFa fam s

2?
Options :
B N
41652952590, CH3
H_,»DH
ff«*'
e
CH3
41852952597
OH
T
CH3
41652952592,
OH
’CH3 .
41652952593, =

Question Number : 39 Question Id : 41652913454 Question Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 4 Wrong Marks : 1



An ‘Assertion’ and a ‘Reason’ are given
below. Choose the correct answer from the
following options :

Assertion (A): Vinyl halides do not
undergo nucleophilic substitution easily.
Reason (R): Even though the
intermediate carbocation is stabilized by
loosely held w-electrons, the cleavage is
difficult because of strong bonding,

Oprions :
Both (A) and (R) are correct
statements and (R) is the correct
41652552594 Vo timof (A).
Both (A) and (R) are correct
statements but (R) is not the correct
explanation of (A).
41652952595

(A) is a correct statement but (R) isa

41652952598, Wrong statement.

Both (A) and (R) are wrong

4185095059y Statements.

Question Number : 39 Queston Id : 41652913454 Queston Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

uF 'Y 99 U w0 A e @ 2
ey foredl 6 0 Wel IR T FAC
HI (A) ;. Taasa Famse =1 Afaso
i el e sl e ra B G

FUT(R) : A2 w-SAFLA GRT A=l
FIaheTa % T & A9 M, Wael A
F Frm fagem =i T

Options ;

’ (A) 791 (R) S &l 8 991 (R), (A) F
41652952504 T AT ¥

(A) 91 (R) 31 T & T (R), (A) F
41652950595 TEl SAEAI TE |



41650959596, (A) T8 & W (R) e ¥

41650950557 (A) T (R) =F1 # e ¥

Question Number : 40 Queston Id : 41652913455 Queston Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following is likelv to give
a precipitate with AgNO, solution ?

Oprions @

C(Cl
41652952598, 4

CHCI
41652952599, 3

41652952600 (CHy,CA

41650950601, —H2=CH-O

Question Number : 40 Question Id : 41651913455 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
=1 3 & frmat AgNO, e & ma sad
=5 = HYET 27

Options :

CCl
41652952598, 4

41652952599, CHC,

41652952600, (CHy),CC

41650050601 “H2=CH-A

Question Number : 41 Question Id : 41651913456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
[n comparison to boron, berylium has :
Options :
greater nuclear charge and greater

HiRLEeEEs. first ionisation enthalpy.



lesser nuclear charge and greater first
disEpassees onisation enihalpy-
lesser nuclear charge and lesser first

41650950604 (ONIsation enthalpy.

greater nuclear charge and lesser first

ionisation enthaipy‘
41652952605,
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AN 1 qer § Jifegy wEa e

Options :

I YR =9 79 =097 Y9H
41652952602, AT e |

e fv=rg sE9 a9 S=99 W99
41650952603, A T |

T nfasg sraw 99 et wam
41652952604 [ l I

oA AR A= a9 e gam
41652950605, AT T
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The correct statement is ;

Opdons :
the blistered appearance of copper
during the metallurgical process is
LiEEhREehE due to the evolution of CO,.

oy o I
41652952607 pig, iron is obtained from cast iron



leaching of bauxite using
concentrated NaOH solution gives
sodium aluminate and sodium

41652952605, Silicate.

the Hall-Heroult process is used for
the production of aluminium and

41652952609, oM
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“ﬂ'gr '_-‘F?F'I% %
Options :
vifcaF WFH & 919 HI9 T (=12 ¥Y
41650950606 COa F FHIFA F Frw &

FZ AT (Toaraizr) 4 fum

41650952607 SNACI(F= ER1) W fHa S € |
A% NaOH fae@d 1 wam Fd &4
aArRaTsE 1 FAeares Aifeam e 9

416502050605, TNSAH faeiise < ¥
UEHITEE 91 A F IEA F o

41652952609 T EUCE WoHH W Ll

Question Number : 43 Question Id : 41652913458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
The temporary hardness of a water sample
is due tocompound X. Boiling this sample
converts X to compound Y. X and Y,
respectively, are :

Options :

41652952610, VB(HCOsh and Mg(OH),

41652052611, MB(HCO;); and MgCO,

41652050615 —A(HCO;); and Ca(OH),



41650050613 Ca(HCO3), and CaO

Question Number : 43 Quesdon Id : 41652913458 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

ST WiTeT i ST FEE A0 X F
% TH wideyd F1 Faem W X g2t AT Y
AWAMEI X AAY, FHA:, ¥

Opdons :

siessosspis VBHO ), T Mg(OH),

alessesg . MB(HCO,), T4 MgCO,

41652952612. Ca(HCO;), 741 Ca(OH),

41652952613 CA(HCO;), 71 Ca0

Question Number : 44 Question Id : 41652913459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
The INCORRECT statement is :
Options :
LiNO, decomposes on heating to
1650050614, SVeLiNO,2and O,.
Lithium is the strongest reducing

4165095061 agentamong the alkali metals.

Lithium is least reactive with water

416snosoa1g among the alkali metals.

LiCl crystallises from aqueous

i W12
41652952617 Setutionas LiCl-2H,0.

Question Number : 44 Quesdon Id : 41652913459 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number: Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

Teld F97 2

Options :



LiNO, T %74 W s799f2d 21t LiINO,
AN O, TN
41652952614 Q, L
qR 913 H FA9gs YTy STEE
41652952615, FHE 2|

|r v | Sifygn 99 % WY el

41650952616 9 FARATI ¥ |

LiCl 9= f334 | LiC1-2H,0 ¥ &9
41855050617 O hEferd gl € |

Question Number : 45 Queston Id : 41652913460 Queston Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The C~C bond length is maximum in :

Opdons :

|
41652952618 o0

aphite
41E52852619: grap

41652950500, diamond

&
41652952621

Question Number : 45 Quesdon Id : 41652913460 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
=1 | | fmeH C - C #iay o Afasad
8?7

Options :

C
41652952618 o0

-

41652952619, :
41652952620, &RT( )

Co
41652952621



Question Number : 46 Question Id : 416521913461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

Thermal decomposition of a Mn compound
(X)at 513 K results in compound Y, MnO,
and a gaseous product. MnQO, reacts with
NaCl and concentrated H,SO, to give a
pungent gas Z. X, Y, and Z, respectively,
are :

Oprions :

41652352622 KoM, Oy amd 3%

41652952603 MOy, KoMnO, and Cl,

' F;hinCH,Khhﬂ]4and(HH
41652952624, -~ =

41650950605 KaMnOy, KoMnO, and Cl,

Question Number : 46 Question Id : 41652913461 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

513 K %, Us Mn I107 (X) 5 amdrd A7=924
T AfF Y, MnO, 71 UF g Ieq12 WA
B T NaCl @1 8% H,S0, ¥ MnO,
Al FF TR AR T Z FTME X, Y 7
Z hE: % :

Options :

K,MnO,, KMnO, 4150,
41652952622 7

, a9
41652952623, MO, KoMnO, T Cly

41650952604 MOy KMnO, w81 Cl,

41652952625, I\RMIﬂ* KEMI\D_; G C]2

Question Number : 47 Question Id : 41652913462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
The pair that has similar atomic radii is :

Options :



41652952626, 1iand H

41652952627, Mnand Re

41652952608, > and Ni

4185005060g Moand W

Question Number : 47 Question Id : 41652913462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
=% 7 foas wofvas g v S g,
éFIT .

Oprions :

41652952626, 11 G HI

41652952607 MnTHIRe

-~ T3
41652952628 ¢ T Ni

41652952629 MO THW

Question Number : 48 Quesdon Id : 41652913463 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

The compound used in the treatment of

lead poisoning is :
Options :

D-penicillamine

41652952630, ~ P

EDTA
41652852631

41650952630 CivPlatin

ferrioxiine B
41650950633, desferrioxime

Question Number : 48 Question Id : 41652913463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
1e faufam & 3TN § yga 9 ¢

Opdons :



41655950630, D-STGEAIE

41652952631, Bates

41652952632, frg-wete

41652952633. TR B

Question Number : 49 Quesdon Id : 41652913464 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
The coordination numbers of Coand Al in
[Cn(Cl]f&n'}:]C} and Ka[Al(Czﬂ4}3].
respectively, are :
(en=ethane-1, 2-diamine)

Options :

41652952634 0and 6

3 and 3
41652952635, - and?

41652950636 > and 6

3
41652952637  and:

Question Number : 49 Question Id : 41652913464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

[Co(Cly(en),|C1 &1 K,[AIC,0,),] H Co

91 Al F1 ITHEEAEE @, w9, F
(en= U1, 2-BTEUHA)

Opdons :

41652952634 L

41852952835, 373

41652952636, SO

41652952637 ST

Question Number : 50 Quesdon Id : 41652913465 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks: 1
The primary pollutant that leads to
photochemical smog is :

Opdons :

ozone
41652952638

41652952639, “uiphur dioxide

acrolein
416852952640

41652052641, TEOgen oxides

Question Number : 50 Quesdon Id : 41652913465 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
AT WUF S FEEAEEEE YEe Ia

Opdons :

A

41652952628

ol ZEHATEES

41652952639

41E52952640, :

41652952641

Question Number ; 51 Question Id : 41652913466 Question Type : MICQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

25 g of an unknown hydrocarbon upon
burning produces 88 g of CO, and 9 g of
H,O. This unknown hydrocarbon
contains :

Options :

41652952647 20 g of carbon and 5 g of hydrogen

9 N
41652952643 24 g of carbon and 1 g of hydrogen

41650050644 22 B of carbonand 3 g of hydrogen



iiesmesnis B Boteathonand 7 g of hydrogen

Question Number : 51 Quesdon Id : 41652913466 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

UF AT ESIHE F 25 g F T WHS g
CO, 71 9 g H,0 309 & &1 59 9m
BEerEE § 3wt 2,

Options

41652950640 2D 8 FHT TS g Fes

"_} =
41650952643 2+ B F= T4 1 g TESre

> - 3 -
41652052644, 22 B T T4 3 g TI&e

41652952645, 10 8 FAT T 7 g FESTS

Question Number : 52 Question Id : 41652913467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The ratio of number of atoms present in a
simple cubic, body centered cubic and face
centered cubic structure are, respectively :

Options :

41652952646, D:1:6

41652952647, 1

ra
'S

41652952648, 5

T
41652952649, 4:2:1

Question Number : 52 Question Id : 41652913467 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

WE T, HA:FHEG T a9 FelF Hiad
T wree # Iufeem w6 ogen W@
Y A, T

Options :

41652952646, 5:1:6



41652952647, 1214

2.3
41652952648 St

41652950640 17271

Question Number : 53 Question Id : 41652913468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrones Marks: 1
Among the following, the energy of 2s
orbital is lowest in :

Options :

41652952650. =

41652952651. -

41652952652, Na

41652952653, .

Question Number : 53 Question Id : 41652913468 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

=1 1, 25 9 1 S fHed A 27

Options @

41652952650, H

41652952651 K

41650952650 Na

41652952653, H

Question Number : 54 Question Id : 41652913469 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
The INCORRECT match in the following
is:

Oprions :

0
41652952654 AG <0,K>1



A
41655950855, AG <0, K<1

41650050656 AG'>0,K <1

AGP = =
41652952657, AGT=0 K=l

Question Number : 534 Question Id : 41632913469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marksz : 4 Wronz Marks: 1
=1 9 e faem fad 272
Oprions :
0
41652952654 AG <0,K>1

41652952655, ot O, kel

0
41652952856 AG >0,K<1

AGU = =
41652952657 Ll LS

Question Number : 55 Queston Id : 41652913470 Queston Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A solution is prepared by dissolving 0.6 g
of urea (molar mass =60 g mol 1 and
1.8 g of glucose (molar mass=180g mol ')
in 100 mL of water at 27 °C. The osmotic

pressure of the solution is:
(R=0.08206 L atm K~ ! mol ™}

Options :

41652952658. ST

7 AL .
41650950659, 0 atm

41650052660, 104 atm

5
41652952661 8.2atm

Question Number : 55 Question Id : 416529123470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1



27 °C W, U fFe #1100 mL SE H 06 ¢
I (AR =60 gmol ) A 18g
T (HIEH Z58HE = 180 g mol ~ 1) Set
T T T f9eras =1 Wy =149 e

(R=0.08206 Latm K ! mol )

Options :

492 atm
41652952658,

. 2. 46 atm
41652952659,

41652950660, 0% atm

41650950661 -2 atm

Question Number : 536 Question Id : 41632913471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
In which one of the following equilibria,

!-«'.r, =K. ?

Options :

NOs(e) + S04 ()= NC 0
41652952662, NO,(g) +SO5(g)=NO(g) + SO4(g)
41652952663 (g)=Ha(g) + lx(g)

2C(s)+ O =200
sresaoszess — o+ O2(8 (g)

2NO(g) = Ns(g) + O
siesssssess = NOB)=Naig) + Ox(g)

Question Number : 56 Quesdon Id : 41652913471 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number: Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

o o wp e § K, 2K, %7

Oprions &
NO,(g) + SOy(g) = NO(g) + SO, (g,
41652952662, 2(8) 2(8) Ag) 1(8)
Py Hlfo) — E
T e, ey I2(g)

T
ares29sosey 28+ O2(8)=2CO(g)



2NO(g) =N o
41652952665, Ag) 2(g) + Oa(g)

Question Number : 57 Question Id : 41652913472 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The molar solubility of Cd(OH), is
1.84x107° M in water. The expected
solubility of Cd(OH), in a buffer solution
of pH=12is:

Opdons :

- =11
41652950666, -2 X107 M

9 =10
41652952667 2.49%10 M

T A
'J‘ x 1077M

418523952668,

-9
41652952669, 1-O4X107°M

Question Number : 57 Question Id : 41651913472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
3¢ ¥ Cd(OH), #1 #Hi=et fadgm
1.84 x 10~ 5M &1 pH =12 % 7% a faerm
H Cd(OH), =1 "efaq faema s

Options :

% 11
41652952666, -2 X107 M

> =10 w,
41652952667 2.49x10 M

249
1.4

% 1077M

41652952668

-9
41652952659 1-04X107°M

Question Number : 58 Question Id : 41652913473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1



The decreasing order of electrical
conductivity of the following aqueous
solutions is :

0.1 M Formic acid (A),

0.1 M Acetic acid (B),

0.1 M Benzoic acid (C).

Oprions @

41652052670, > B>C

>
41650950671 C>A>B

41650950670, > B> A

41650050673 2> C>B

Question Number : 58 Question Id : 41651913472 Queston Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
1 st faeradi %1 fargdta =rerean =1 22
FH T,

0.1 M wififs ufge (A),

0.1 M UfHfzF uigE (B),
0.1 M F=sirg® ufas (C).
Oprions :
41652950670, A~ B>C

>A>
416529525?1.C g

>B>
41652952672, CFi>a

>C>
41652952673 =L

Question Number : 59 Question Id : 41652913474 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



NO, required for a reaction is produced by
the decomposition of N,O in CCl, as per
the equation,

2 NyOs5(g)— 4 NOy(g) + Oa(g).

The initial concentration of N,O; is
3.00 mol L~ !and itis 2.75 mol L~ ! after 30
minutes. The rate of formation of NO, is :

Opdons :
= 3 s 'l W - 'l
41855950674 +167x107*mol L™ ! min

-3 o R |
41652952675 5003 X107  mol L™ " min

41650050676 2083 <10~ 3 mol L™ Y min !

-2 . R |
41650950677 1:667 X 10~ 2mol L~ ! min

Question Number : 59 Question Id : 41651913474 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

= AfsfE F fou sEvgs NO, ®:1Cq,
N,O; F #7927 gR 391 F4 §, 331
= T 2,

2 N2Os(g)—=4 NOa(g) + Oa(g)

N,O5 =1 SR Tr=al 3.00 mol L1 &1
30 iz & =12 Ft "r=Ea 275 mol L1 )
NO, F F=&E Fl & 8 :

Opdons :

= 3 == 1 4 . l
41652952674 3167 X107 mol L™ min

i 3 _ I . _ I
4165005067 5:333 %107 mol L™ ! min

-3 1=
41652952675, 2083 x107 " mol L™ " min

-7 I e,
41650955677 1:667 X107 “mol L™ ! min

Question Number : 60 Question Id : 41651913475 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Among the following, the INCORRECT

statement about colloids is :



Options :
The range of diameters of colloidal

particles is between 1 and 1000 nm.
41652952678

41650950679 1hey can scatter light

The osmotic pressure of a colloidal
solution is of higher order than the

true solution at the same

41652952650, concentration.

They are larger than small molecules

41650952651, and have high molar mass.

Question Number : 60 Question Id : 41651913475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
T F oy i fa s i a s W
TeAd & 7
Options :
FIATZET FU & =W FT TIH

1650952675 1 7911000 nm F 919 21 2

4165295267 3 TN 1 FEhIOl L Thd €

e T
WA 2, Ardtas fGeed & = #i
41650950650, TOF B I=Iat A %1 B ¥

q B AU o H 9 24 & AN

41652052651 ST A REAA I A ¥ |
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Question Number : 61 Queston Id : 41652913476 Queston Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let A, B and C be sels such that
$#AnBcC,  Then which of the
following statements is not true ?

Oprions :

41652952682 DCF

4165095065z (CUA)N(CUB)=C

- ' o —c*
s1650952684 | (A7 B) =C, then AZC

41652950685 M (A—C) < B, then ACH

Question Number : 61 Question Id : 41652913476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
A =4 A, BIAIC 50 931 & %

d2A B C,d 5§ 9 F1 1 599 T

T2
Opdons :
. ;4"| & =

41650950682 D \CFP
41850052683 (CWA)N(CUB)=C
41650050654 TR(A-B) S C A ACC

= = ACB
at650952685. TR(A-C) S B, Acl

Question Number : 62 Quesdon Id : 41652913477 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number: Yes
Single Line Question Option : No Optien Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1



Let z € C with Im(z) =10 and it satisfies

SE- B e for some natural number
22+ n
n, Then:
Options :
4165095265 M=20and Re(z)=10
41855055557 M= 20 and Re(z)=-10
4165595265, =40 and Re(z)=10
41652952659, M= 40 and Re(z)=—10

Question Number : 62 Question Id : 41652913477 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

A1 2 € C Foraa foru Im(z) = 10 99 fodt wigrm
; a 'Ez n , & s

I nF U gz ——t 2 — 1 FHTE

F1 &, 9l

Opdons :

4165095265, N=20 M Re(z)=10

41650050657 N=20T9TRe(z)=-10

41650052658, N0 T Re(z)=10

41852952659 N=H0TF Re(z)=—10

Question Number : 63 Quesdon Id : 41652913478 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

If o, P and vy are three consecutive terms of
a non-constant G.P. such that the equations
ax?+28x+y=0and x> +x—1=0 have a
common root, then of 3 +v) is equal to :

Oprions :

41652952690, Y



41852952891, °P

oy
41652952692

416529526493. 0

Question Number : 63 Question Id : 41652913478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wronz Marks : 1
7fe w fum 921 At iR 49t d1 FETa
92 o, P 99T vy 59 UHH & & qHr=Hon
a2+ 2Bx+y=0T4 22+ x — 1 =0 F1 TF 5
THA B, Ta(B+y) TR E :

Opdons :

41652952690, PY

41652952691 P

ay
41652952692

416523952693 0

Question Number : 64 Queston Id : 41652913479 Queston Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

A value of 0 ¢ (0, w/3), for which

14+cos20  sin0 4 cosbl)
CDSEH 1+sinzli dcosb6ll | = 0,1s:

cos2h sin=f 14 4 cosol)

Options :

2|4

41652952604

41652952695

41652952696



W
o]}

416523952697

Question Number : 64 Question Id : 41652913479 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

0 e (0, w/3) 1 U= 7A, fags fom

1+ cnszil sinj‘li 4 cosoi
cos2H) 14sin20 4 cosbh | = [J%.%:

cos=i sinZ 144 cosél

Opuons :

418525952694,

41652952695

41552952696,

41652952697, 30

Question Number : 65 Question Id : 41651913450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

If [x] denotes the greatest integer =x, then

the system of linear equations

[sinB]x +[ —cosb]y=0

[cotb]x + y=0

Options :
has a unique solution if
{"ﬂ' 27 ) ; 'F'rr]
be| —. —J W o, —1
b= L 6
41652952698,

have infinitely many solutions if

(33 (2
2" 3 | 3

-

41652352699



#

2 3,
and have infinitely many solutions if

He['rr, ﬂ}
¢ - (B

have infinitely many solutions if

ue[lz—“
7" 3

has a unique solutionif 8§ ¢ {E 2—“]

41652352700

and has a unique

solution if 0 e l-n-, -?]
41652952701,

Question Number : 65 Question Id : 41651913480 Queston Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

IqfE [x] TETH JUIF <x &, § EE THE

IREQR
[sinB]x + [ — cosb]y=0
[cotb]x +y=0
Options :
=1 96 UF & ¢ afe
['rr ..1TJ [ ?11‘}
Be|—, —| U |, —
2 3 6
41652352698
F I 7 & Ale
o (11' Z-n'] (*rr ?'.'r]
Sl =3 o ¥ =
2 3 6
41652952699
Tﬂnﬁqa;ﬁ%uﬁ:ae[; E:JHEIT
m?ﬁ?!ﬂ‘zﬂe( ?"T].
41852952700, 6.

FaFaEAcAE g E[; Ef]ﬂﬂlﬁﬁ

TF T %‘qﬁ: 0 e ( ?"']
41652952701 6



Question Number : 66 Queston Id : 41652913481 Queston Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A group of students comprises of 5 boys
and n girls. If the number of ways, in which
a team of 3 students can randomly be
selected from this group such that there is
at least one boy and at least one girl in each
team, is 1750, then n is equal to :

Options :

41652952?D2.24

41652952703
41652952704

41652952705,

Question Number : 66 Question Id : 41652913481 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

faenfoi4i % T e H 5 7% a9 n AFA
21 afz 3o ggE § 9 94 fanfdEi 51 9m
AR 59 WFR 991 & a0F, & TF 2
H FH § FY UF o=H 0991 F9 9 9 TH
FEHI &, 1750 F, T n T E :

Oprions @

24
41652952702, ©

41652952703, 2

41852852704 2

41652952705.

Question Number : 67 Question Id : 416329134582 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
The term independent of x in the expansion

8 16

g 3

nt’[$ s JE'—II[EIE . —2] is equal to :
X



Options :

41652952706, — 108
- 72
41652952707
41652952708, 0
41650952709, 0

Question Number : 67 Question Id : 416529134582 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

1 xd 2 3 # ”
— - | - = | FUOR Hx
60 31] [ J .

| x-
EHIEA TR
Options :
41652952706, 108
41552952?@?_'_?2
41552952?@8."35
41652952709, 36

Question Number : 68 Question Id : 41652913483 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
1t Ay, Ay, Ay aenen are in A.P. such that
a; +as +a); =40, then the sum of the first
15 terms of this A.P. is:

Opdons :

41852952710, 120

2
41652952711. L2

41652852712, -

416529527 13. -0

Question Number : 68 Quesdon Id : 41652913483 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number: Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks: 1

A ay, ay, asy, ... T THH 21 A 50 WHR &
fFa ta,+a,=40% o 38 99w 34 &
W9 15 TS1 1 A0TEA €

Options :

41652952710. 150

41652952711. 20

41652952712 20

41652952713, 20

Question Number : 69 Question Id : 41651913484 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If 2C, +(22) 2C, +(3% WC,+ s
+(20%) *Cyy = A(2P), then the ordered pair
(A, B) is equal to:

Options :

41652952714 (380, 18)

41852952715, (380,19)

41652952716, (420, 18)

41652952717 .15

Question Number : 69 Question Id : 41651913484 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
g 2C, +(2%) 29C, + (3%) 0G5+ ........
+(202) 20C, = A(2P), T wiHA T (A, B)
ELELS %’:

Options :

41652952714, (0H0),25)

41652952715 (380, 19)

4165239527 16. (10,18)



41852952717 (420,19)

Question Number : 70 Question Id : 41651913485 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
x + 2sinx

lim
2 . = 2
-‘_’ﬂu'lr_x'“i 2sinx +1 - \/ﬁm‘r -4

18 :
Options :

416852952718

-

41652952719

41652352720

41652952721.

Question Number : 70 Queston Id : 41652913485 Question Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

I x + 2sinr
im
x—0 \[‘1'21 2 sinx + 1 \[ﬁin:.\' x+ 1
A2
Options :
41652952718, |

2
4168529527149,

3
41652952720,

&
41652952721,

Question Number : 71 Queston Id : 41652913486 Question Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

The derivative of tan™! [ MJ

siny + cosy

J)s:

S

* .
with respect to -, where {3' € [ 0,

Opdons :



41852952722

41652952723

41652952724

W |

41652352725.

Question Number : 71 Queston Id : 41652913486 Question Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

X = 1 r &
— % "W tan“(_—-—-sf“x “’5"}, el
2 siny + Cosx

xe [:{’h %J] F FFTFAA €

Opdons :

41652852722 3

b | =

416523952723

41652952724

WM

41852952725,

Question Number : 72 Question Id : 416521913487 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The tangents to the curve y=(x —2)*—1 at
its points of intersection with the line
x— =3, intersect at the point :

|

Options :

ka3 | e
e

41652952726

41652352727



&)
(49

41652952729 ‘

4165239527 28.

Question Number : 72 Question Id : 416521913487 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
Fhy=(x—2)2~1 F @y - y=3 4 W=
Ta=g i =k =1 oy e o 3 T g
R foerdt #2

Options :

41652952726.

(-34)

41652952727
416523952728

41852952729

Question Number : 73 Question Id : 41652913488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
Let flx) = 5—|x -~ 2| and g(x)=|x + 1

x e R, If f{x) attains maximum value al «

L

and g(x) attains minimum value at g, then

: (x - lll_:r"1 5x + 6)
lim

- is equal to:
xr—-aB x> - 6x +8

Oprions :
41652952730, /2
41652952731, 1/2

2
41652952732, 3/2



- D
41852952733 3)2

Question Number : 73 Question Id : 41651013488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

WA fix) = 5 |x — 2| AW gla)=|x + 1|,
xe R. A f{x) F1 ATFTH A« T E T g(x)
F1 A9 HEH B T #, Al

r = 2
fiiik (x — 1){x 5x + 6) W%:

-
r——af X —6x+8

Options :
41652952730. 1/2
41652952731, 1/2

2
41652952732 U2

s 2
41652952733 3/2

Question Number : 74 Question Id : 416529134589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
Let « € (0, w/2) be fixed. If the integral
ftanx + tana

J tanxy — tanu

A(x) cos2a+ B(x) sin2a+C, where C is a
constant of integration, then the functions
A(x) and B(x) are respectively :

Options :

sy T O log, [sin(x — o))
41652952735, x+aand loge|sinx — a)|
41652952736, ‘x_““‘j.l"‘ﬂeh‘-ﬁir )|
41652952737 x+aand log,[sin(x + )|

Question Number : 74 Question Id : 416529134589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1



A« e (0, w/2) fom &1 afz wama
[tany + tana
-ftan.r tanao
A(x) cos2a+ B(x) sinZa +C, W&l C TF
HHFEA A E, O FeE A(x) 991 B(x) FE:
¥

dx=

Optioiis :

41650952734 © O A log, [sin(x — a)
41652952735 ¥+ a 3 loge sin(x — a)
41652952736 O AR log. feos(x — «)
41652952737 x+ o 3 log, fsin(x + o)

Question Number : 75 Question Id : 41651913490 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

A value of a such that

‘i:"+l A 2 {E |
a (.xlf!}(xfu{l} = 0Be BJ]S;

Opdons :

l\ill—-

41652952738,

41652952739

41652952740

k3 | =

41652852741.

Question Number : 75 Queston Id : 41652913490 Queston Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

o 1 TF TH, faas oo

f...] dx
d (xta) (x+atl)

= ]“Bu[%] %%



Options :

b | e

41652952738

hJ

41652852739,

41852952740,

P | =

41652952741

Question Number : 76 Quesdon Id : 41652913491 Quesdon Tyvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
If the area (in sq. units) bounded by the
parabola y>=4Ax and the line y=Ax,

A>0,is ~, then \ is equal to :
9

Options :

41652952742, 4\/5

41652952743 'VE
416523952744,

41852952745,

Question Number : 76 Question Id : 41652913491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
Iafe qIg#g y1=4.\1' q91 T4 y=Ax,

h:ﬂ,ﬁﬁ}ﬁam@m(aﬁsmﬁﬂ}%
%.ﬁ!h?ﬂﬁ?%:

Oprions @

41652852742 ‘L\E

41652962743, _JE

41652952744



41852952745, 8

Question Number : 77 Question Id : 41651913492 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The general solution of the differential
equation (y*—2%) dx — aydy=0 (x=0) is :
(where ¢ is a constant of integration)

Options :

atss2os2748, ¥ T2 Had=0

dicisosavay ¥ -2 tar=0

Bl e T
r-+2r7 + cx==0
41652952748, 7 s

> 2 -
o

Question Number : 77 Question Id : 41651913492 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
ATFA HHFI (32— x%) dx — aydy=0
(x# 0) T =A9F 7 €
(SRl ¢ UF T JA9T ©)

Options :

41652052745 VT2 Her?=0

ST, .
41652952747, ¥~ tat=0

41852852748, *

I I
41650050749 ¥ & tax'=0

Question Number : 78 Question Id : 41652913493 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

A straight line L at a distance of 4 units from
the origin makes positive intercepts on the
coordinate axes and the perpendicular from
the origin to this line makes an angle of 60°
with the line x + y=0. Then an equation of
the line L is:



Options :

[sﬁ Fl)x+ (V3 - 1)y =82

41652352750

(V3 - 1)x+ (VB + 1)y =842

41652952751

41652952752 V3x ty =8

41650950753 ¥ T Vay =8

Question Number : T8 Question Id : 41632913493 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

yeAfa< § 4 THE ®1 o W UF qE M@l
fAEwis A W ¥AEF A0:|vE g1 € a4l
gafa= q 50 T WEd, Wix+y=0%F 919

B0° =T IO AT | A 1 L U WHER

=,
B

Opdons :

V3 +1)x+ (VB - 1)y=8V2

41552952?50.[

[\E 1)x + {\E i ]}yzﬂﬁ

41652852751

Alessocsyey VOX Y =8

3y =
41652952753, * 3y =8

Question Number : 79 Quesdon Id : 41652913494 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

Atriangle hasa vertex at (1, 2) and the mid
points of the two sides through it are
(=1, 1)and (2, 3). Then the centroid of this
triangle is :

Opdons :

1
('i' 1]
41652952754

(32

41852952755,



(1)
d

41652952757,

41652952756

|
wlen
 —

Question Number : 79 Question Id : 41652913494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

v s %1 v i (1, 2) W A TE fe
S A g e & 9eE-fag (-1, 1) 3R
aHF MmAETFEET T

Opdons :
1
5

41652952754,

3

2
]-r_
[ 3J
{l E]
3" 8

41652952757 =

416852952755

41652952756,

Question Number : 80 Question Id : 41652913495 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A circle touching the x-axis at (3, 0) and
making an intercept of length 8 on the
y-axis passes through the point :

Options :

41652352758, .19

3,
a1652952759. )

41852952760, (1,5)

(2.3)
41652952761,



Question Number : 80 Question Id : 41652913495 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

x-31% T (3, 0) T OI9 FIq EA T y-AE T
R ETvETE 1 #d:H0E (intercept) A A UH
i afFafag d e am g7
Oprions @

q
41652952?58.{"1ﬂj

3,
a1652952759, )

41652952?66.{1’5}

(2,3)
41852952761,

Question Number : 81 Question Id : 41651913496 Queston Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
The equation of a common tangent to the
curves, y>=16x and xy= —4, is
Oprions :
41652952762 Y2y +16=0

41652052763 X TYH4=0

Py — 3=
41652952764 =X ¥ +2=0

41650950785, X ¥ H4=0

Question Number : 81 Question Id : 41651913496 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
. - L -
T P =161 791 xy = —4 F UH IHAFAS
TV FEEE E

Opdons :

— T —
4165295076, ¥ 2y +16=0

x+y+4=0
41652952763, '

Ty — e
41652052764 X ¥ +2=0



41650950765, ¥ ¥ H4=0

Question Number : 82 Question Id : 41651913497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
An ellipse, with foci at (0, 2) and (0, —2)
and minor axis of length 4, passes through
which of the following points ?

Options :

(2, 42)

41852952766

(1, 242]

41652952767

(v2, 2)

41652952768,

(2, 242)

41652852769,

Question Number : 82 Question Id : 41651913497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

e A, et et (0, 2) a9 (0, ~2) W
tanfonr g g F T=E4E 3
o fag 9 & s 27

Optons :

(2 2)

41652952766,

(1, 2v2)

41652952767

(¥2, 2)

41652952768,

(2, 2432)

416529852769,

Question Number : 83 Queston Id : 41652913498 Queston Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1



A plane which bisects the angle between
the two given planes 2x—y+2z—-4=0and
x+2y+2z~-2=0, passes through the

point :

Options :

41652952770, (I ~41)
|

41650952771 (&41)

41652952772 2 -4.1)

41850050773 (4 1)

Question Number : 83 Question Id : 41652913498 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

=1 fau 7o Huaen 2x—y+2z2—4=0 99

x+2y+ 22— 2= 0 F 9 F F0 T Aufgafem

w1 UE owae, e F e fag | aee

Bl

Opdons :

1, -4
41852952770 . /1)

5 4
41852952771. (24,1)

41652952772, 2 -41)

+ r ”1
ates2es2773. (4 1)

Question Number : 84 Question Id : 41632913499 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The length of the perpendicular drawn

from the point (2, 1, 4) to the plane

containing the lines
=y A A A M A,
r=(i + j)+Ni +2j - k) and

ro=(i +j)+p(—i + j — 2k) Is:

Options :



41852952774

3

41652952775

1
41852952776, 9

-

41652852777

Question Number : 84 Question Id : 41652913499 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks : 1

- e —F M

™A, = (i 4 ;] SR 2; k) A0

Fo=(i 4 ) tu(-i + ]~ 2k)T SR
T FHAA T 95 (2, 1, 4) § =@ 7™ @5 wl

Ffﬁﬂé % -

Options :

3
41652952774

J3
41652952775

1
41652952776, 3

1
41650952777 V3

Question Number : 85 Question Id : 41632913500 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marksz : 4 Wronz Marks: 1
Let e R and the three vectors

a=ai+j+3k: b=2i4+j— ak
and ¢ =i 2, ¢ 3%. Then the set

—

—>

S={a: a, b and ¢ are coplanar)

Oprions @

41652952775, S empty



41650950779, S Singleton
contains exactly two positive
41652952750, numbers

conltains exad_[}' two numbers -:jnly

one of which is positive
41852952781,

Question Number : 85 Question Id : 41632913500 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
— N, M ol
Tae RAMATTREA 4 — o 4 j + 3k

Options :

41650050778 1 .

41652952779 %I

41652952780, H A9: (exactly) &1 S HEA €|
H qora: 91 ged ¢ o 4 Fae vw

slesosoray, WUOES S

Question Number : 86 Queston Id : 41652913501 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

A person throws two fair dice. He wins
Rs. 15 for throwing a doublet (same
numbers on the two dice), wins Rs. 12 when
the throw results in the sum of 9, and loses
Rs. 6 for any other outcome on the throw.
Then the expected gain/loss (in Rs.) of the
personis:

Oprions :

4185595278 2 Bain



l loss
41652952783 2

l gain
41652952784 2

l loss
41652952785, 4

Question Number : 86 Question Id : 41652913501 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

UF = T A (fair) TH SSEE 2 UEH
5 (SF1 991 W U% & T=) A6 W OEE
%, 15 Siaa 2, 21 w1 S S % A9
B W E 12 Siaar @ a9 R e ufons
(outcome) T %. 6 BT ¥ o 30 = @
R IEG] (expected}f*‘l‘l‘T/%Tﬁ (%) &

Options :
e |
41652952782,

1
41652952783 2

iy
41652952784

B | =

G|
41652952785,

e | -

Question Number : 87 Queston Id : 41652913502 Queston Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

For aninitial screening of anadmission test,

acandidate is given fifty problems to solve.

[f the probability that the candidate can

solve any problem is % then the

probability that he is unable to solve less
than two problems is :

Options :



2[11{]]
41652952786, - “°

41652952787.

41652952788

41852852789,

Question Number : 87 Question Id : 41651913502 Queston Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

AT =i % o v e 3 v et
F TEE WY 74 0 & fou fau o ) Afz
Tl F R U W g T GEA F

wrfaamr%%.ﬁm%a‘iﬂmwﬁfi‘rm
T oL e ey

Options :
lﬂl[l]
5 ) 3 .

54( 4\?

41652952787 2 -SJ

316{ 4 ]‘“
5

41652952788, 29

49

41652352756

48

E{l]
41652952789, 20 \9

Question Number : 88 Question Id : 41652913503 Qu&sﬁun Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
Let S be the set of all « € R such that the
equation, cos2x+asinx=2a—7 has a
solution. ThenS is equal to :



Options :

41652352730, -

9
41652952791 [2.6]

41652952792 [1.4]

41652952793 3.7]

Question Number : 88 Question Id : 416529123503 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

HEA JH o e R, Fose fom wwmsam
cos2y + a siny = 2o — 7 F1 UF 29 €, F1TG=T
STI MSTHE :

Opdons :

418523852730, "

9
41652952791, 2. 6]

416529527892 114

41852952793 13.7]

Question Number : 82 Question Id : 41652913304 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The angle of elevation of the top of a vertical
tower standing on a horizontal plane is
observed to be 45° from a point A on the
plane. Let B be the point 30 m vertically
above the point A. If the angle of elevation
of the top of the tower from B be 3(F, then
the distance (in m) of the foot of the tower
from the point A is:

Options :

15 (3 - \3)

416529527394.

15 (3 + V3)

416529852795,



15 (1 4 4/3)

41652952796,

15 (5 \3)

41652952797

Question Number : 89 Question Id : 41651913504 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

& 7 W W2 UF S HAR F T
a9 T UF fag A | A9 I 45° 71 A
fag A 30 9z 3 W fag B 21 3fEB
T HAR ¥ T 1 399 Fm 300 &, 9 §ER

FuE i fag AT (de ) &
Options : _

3-V3
41650952794, 17 | v3)
(343
41652052795, 12 (34 V3)
1 ++/3
41652952796, 15 (1 +V3)
15 (5 V3)
41652952797, )

Question Number : 30 Queston Id : 41652913505 Queston Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
The Boolean expression -~ (p==(- q)) is

equivalent to :
Options @

SR o ] T
416523527498, { IL} q

41650952799 1 7 P

M
41652952800 R

41852952801, SR

Question Number : 20 Question Id : 41652913505 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1



T HFATF - (p— (- q) T H 2w
T &7

Options @

. p)y=
41652952?98_{ P)=9

41652952799, 1~ P

O A
41652952800, F

. W
41652952801. S



